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ST e TR T T B G, o LA BENRLAINGL, 7 g Re ST C N & SR SR S P R R

e

Y Y A 1 )



-k:

[IepeMecTUTEIBPHBIA 3aKOH

\ a+-B=Bta \
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CouerarelIbHBIN 3aKOH

(3+B)+C=a+(B—|—ca\,
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PacnpenenuTenbHbIN 3aKOH

PACKPBITHE CKOOOK: \
. ax(Btc)=axBtaxc

BBIHCCEHUE ODLIETO

\MHO)I(I/ITGJ‘IH 3a CKOOKU :\

axt+axc=ax(B+c)
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PaccMOTpUM IIPUMEDPHI:

1) 16,28+5,395-1,18-4,305=16,28+(-1,18)+5,395+
+(-4,305)=(16,28-1,18)+(5,395-4,305)=15,1+1,09=
=16,19

2) 0,8*0,11*1,25=(0,8*1,25)*0,11=1,000*011=0,11

3) - 5,1*1,8+0,18= - 5,1*1,8+1,8%0,1=1,8*( - 5,1+0,1)=1,8*(- 5)= - 9
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